AP STATISTicS (HAPTER 5 — PrRoBAg/Liy Review) *I

E A group of 50 college students were classified according to hair and eye color. The

results are summarized in the joint frequency table below-
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(a) What is the probability that a randomly selected student has brown hair?

(b) What is the probabilit); that a randomly selected has red hair or brown hair?

(© What is the probability that a randomly selected student has red hair or green
eyes?

(@ What is the probability that a randomly selected student has red hair and blue
eyes?

© What is the probability that a randomly selected student with green eyes has blond
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@ An exploratory oil well is being drilled. The probability of drilling through
shale is 0.4. If the well goes through shale the probability of striking oil is
0.3. If the well does not go through shale, the probability of striking oil is
OIﬂy 0.1. *&\‘\e.

(a)  What is the probability of strikig oil? /

Plov) = 4g )= 2+ 06 = |&
(b)  What is the probability of drilling through shale and striking 0il?
i P( SwhaLe and oiL) = |
(c)  What is the probability of going through shale given that we strike
oil? P Swae \owy = =Tree vse Sormole |
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@ Medi-Mart has just come out with a new pregnancy test that registers blue (indicating a
pregnancy) in 95% of users who are pregnant. However, the new monitor also registers
blue in 5% t. Suppose that, in reality, only 4% of
women using this test are pregnant. '

(a) Construct a table or draw a tree diagram that reflects the situation, including
probabilities or counts.

What is the probability that a randomly selected woman who uses this test gets a
“blue” result?

® ©

What is the probability that the woman actually is pregnant given that the test
registers blue?
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,E _ Another hand. You pick three cards at random from 2 l — P ( N ON

deck. Find the probability of each event described below-
a) You getno aces. \

b) You get all hearts. I

¢) The third card is your first red card. 5
d) You have at least one diamond. P(Roac - P(doee
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: @ Eligibility. A university requires its biology majors to GwveN PUSTATS ) = .52
take a course called BioResearch. The prerequisite for this __—
course is that students must have taken either a Stalistics ¥ (c°"‘p°'k') =23
course or a computer course. By the time they are juniors, P(Sters en d cum Po&cr =.07

52% of the Biology majors have taken Statistics, 23% have
had a computer course, and 7% have done both. '

a) What percenf of the junior Biology majors are ineligi- (Reave A TAoLG
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b) What's the probability that a junior Biclogy major v IR
who has taken Statistics has also taken a computer s . .
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c) Are taking these two courses disjoint events? Explain. ; »
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'gl At a certain college 80% of the freshman are enrolled in English, 70% are enrolled in
Mathematics, and 65% are enrolled in both courses. A freshman is to be randomly
selected.
(a) Construct a two-way table showing this information.

(b) What is the probability that a freshman is enrolled in English or Mathematics?

(c) What is the probability that the freshman is enrolled in English, given that the

student is enrolled in Mathematiuci_‘.;_“ DR
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\ Cl ‘ " Optic City sells six brands of digital cameras. Each brand is available in 2, 3, or 4
: megapixels.

(@) How many different digital cameras are sold by Optic City?
% Comera's = (E\gpends) (* models) = L(3) =[1% TYPES or cameens)
@ Make a tree diagram of a two-way table showing all of the different cameras.

(c) What is the probability of randomly selecting any one of the digital cameras?
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